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Processor service
D. examine events/sec messages by using the View Service Log feature of the OMNIbus
EventReader service

Answer: C

QUESTION: 114
When using IBM Tivoli Netcool/Impact V6.1 to insert a synthetic (or meta) event into
Netcool/OMNIbus, which function can be used?

A. SendEvent
B. Eventlnsert
C. InsertEvent
D. ReturnEvent

Answer: D

QUESTION: 115
Which administration scripts allow the IBM Tivoli Netcool/lmpact Server to start and
stop independently of the Embedded WebSphere Application Server?

A. eWAS start and eWAS stop

B. nci_server and nci_shutdown

C. impact_start and impact_stop

D. server start and server shutdown

Answer: B

QUESTION: 116
What is the output of the nci_export command?

A. atar file

B. anxmlfile

C. a directory

D. a comma delimited file

Answer: C



QUESTION: 117
Which two options are required to execute the ncijrigger tool? (Choose two.)

A. server_name

B. policy name

C. project name

D. encrypted user id
E. encrypted password

Answer: A, B

QUESTION: 118
What is the procedure to create a new data source?

A. System Configuration > New Data Source

B. System Configuration > New Data Model > New Data Source

C. System Configuration > Event Automation > Settings > New Data Source

D. System Configuration > Event Automation > Data Model > Data Model tab > New
Data Source

Answer: D

QUESTION: 119
Which three instant messaging programs are supported by the IBM Tivoli
Netcool/Impact Jabber Service? (Choose three.)

A.IRC
B. AIM
C. XML
D. MSN
E. XMPP
F. Yahoo

Answer: B, D, F

QUESTION: 120
Which command should be executed to collect log files for debugging issues?

A. SNCHOME/bin/nci_collect log



B. SNCHOME/bin/nci_collect logs
C. SNCHOME/impact/bin/ nci_collect_log
D. $SNCHOME/impact/bin/nci_collect logs

Answer: D

QUESTION: 121
Which two options are supported using IBM Tivoli Netcool/lmpact Data Source

Adapters? (Choose two.)

A.IMS

B. data modeling

C. XinY processing

D. instant messaging

E. Web services security

Answer: A, E

QUESTION: 122
How many data sources are used to create a policy that enriches IBM Tivoli
Netcool/OMNIbus events from a remote Oracle database?

A. one data source for the remote Oracle data source

B. two data sources: one for the ObjectServer and one for the remote Oracle database

C. three data sources for the alerts.status table, alerts journal table and the alerts.details
table

D. four data sources for OMNIbus, the alerts.status table and the remote Oracle database
plus the table from where the data is gathered

Answer: B

QUESTION: 123

The volume of events that the operators have to resolve must be reduced. All the events
from six service centers funnel through one central ObjectServer. The ObjectServer does
not have access to the service location information, however the information is stored
locally in an IBM DB2 database. The operators should only see critical events from
specific service center locations. Which two key IBM Tivoli Netcool/Impact V6.1
functional categories apply?



A. Scheduling

B. Web Services

C. Event Notification
D. Event Enrichment
E. Event Suppression

Answer: D, E
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